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C/17/B.A./Part-11{G)/ 3T(N)/Eco./3

NEW

2017 !
Part II 3-Tier
ECONOMICS |
PAPER—III |
(General)
Full Marks : 90 ‘
Time : 3 Hours ‘
The figures in the right-hand margin indicate full marké‘;

Candidates are required to give their answers in their,

own words as far as practicable. |
|

First Half I

Group—A

1. Answer any five questions from the following : 5x2

(a) What do you mean by economic development ?'
: i

{p) What is human capital ?

(c) What is labour intensive technique ?

(d) What is economic dualism ?
. . . * l
(e} Mention some basic factors of economic growth.

() Propose few measures to improve productivity in
agriculture. o

(Tum' Quer)



(g) Mention some obstacles to industrial development.
(1) Propose few incentives of Increase savings.

(i) Mention some measures to increase agricultural -
productivity.

() What do you mean by technology ?

Group—B

Answer any three questions from the following :  3x5

2. Mention the differences between economic growth and
€conomic development.

3. What are the interdependencies between agriculture and

industry ?

4. DBriefly discuss different stages of growth as given by &
W W Rostow.

S. Briefly explain the theory of big push.

6. Critically evaluate the strategy of unbalanced growth,

7. Discuss low level equilibrium trap.

Group-—C

Answer any two questions from the following :  2x10

8. Discuss the common factors of economic development.

9. How do you explain the conflict between production and
employment and the conilict between savings and
investment in the choice of technology » ¥
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10.

“11.

Explain the construction of Human Development Index
(HD1).

Describe the Lewis model of economic development \‘vhere
labour supply is unlimited. What is vicious circle of

poverty ? | 6+4
|
Second Half
|
Group—A
i
Answer any five questions from the following : 5§ X2

|
{a) What is external commercial borrowing?

(b) Write two importent features of the economic 1l:>olicy

initiated in 1991 in India. i
(c) What is sustainable development ? i
(d) What do vou mean by devaluation of money '»‘
() Mention two demerits of foreign aid ? |
{f) What is Bretton Wood system ? |
(g What are the arguments for ‘protection’? |
(h) What are the different forms of foreign investni?ent ?
(ii What do you mean by common property resouTces 2

i) What do you mean by ‘green accounting of sustain-

able develepment’ ? 1

C/17/B.A./Part-11{G)/ 3T(N}/ Eco. /3 {Turry Over)



Group—B

Answer any three questions from the following : 3x5

A
2. Briefly discuss the role of foreign investment in a

developing country.

3. Briefly discuss the functions of IMF,

4. What is dumpiﬁg ? Very briefly explain infant industry
argument. 2+3

5. Write down some important features of the present
Chinese economy.

6. Write your opinion about the relation between poverty and
environment. '

7. Explain the concept of export-led growth. >
Group—C
Answer any fwo from the following questions : 2x10

8. Explain the role of World Bank in less developed country
with criticism. '

9. Explain the relation between environment and develop-
ment. What is ecological footprint ? What is carbon foot
print ? T 6+2+2

10. Does there exist any relation between international trade
and economic development ? Justify your arguments.

11. Discuss the obstacles of export promotion in less
developed country. Mention the steps to be taken to
eradicate such obstacie. z
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